Eq Asmt
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Communication [3 marks]3
1. The equilibrium constant for the reaction,
Ha(g) + lx(g) & 2HI(g)

}':;'::ﬁ‘z::h m“’e'a‘”m in the following way: K.=794 at 298 K and K.=54 at 700 K. Is the
of Hi favoured more at the higher or lower temperature? Explain. [3 marks]
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Making‘Connections [8 marks] 7
2. Wil lithium carbonate form an acidic, basic or neutral solution? Show your work. [3 marks]
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3. For the reaction, PBrs(g) <> PBrs(g) + Brx(g), in what direction will the equilibrium shift when the
following actions are taken on the system at equilibrium? [5 marks]
(a) PBrs(g) is added

(b) the temperature is decreased

P

(c) the volume of the reaction system is increased
—>
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(d) a catalyst is added

(e) PBrs(g) is removed
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Inquiry [19 marks] /¢
4. Calculate the pH of a buffer that is 0.25 M in lactic acid, HC3HsO3 (Ks=1.4 x 10*) and 0.10Min
sodium lactate, NaCsHsOs. [3 marks] N
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5. Calculate the pH of a 0.015 M solution of acetic acid. [8 marks]
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6. A0.125 M solution of an unknown acid has a pH of 5.34. What is the K, of the acid? [8 marks] <&
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wledge & Understanding [14 marks] 3

Show the neutralization reaction between sulfurous acid and aluminum hydroxide. [4 marks]
LI/ O W4S0Y gy +hi OH), gy — GH(OH Joy + 14 1,604, .

8. Show the dissociation of barium chlorate in water. [2 marks]

! %O(Cng\);(,m \ o Ba‘zoq\) +QCl05 g

9. Calculate the molar solubility of zinc

cyanide, at 25°C, in the presence of 0.010 M potassium
cyanide. The Ky, for zinc cyanide at 25°C is 8.0 x 1072, [8 marks]
k”sp =R.0x107'2
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